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7. The position function of a particle is given by
s=1r—45 -Tt=0.
(a) When does the particle reach a velocity of 5 m/s?
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(b) When is the acceleration 07 What is the significance of

this value of 1? . u\w\ &:‘0
V=3t -4t -7 a(.De o

0> ¢4+ —q - —
ét‘{-o ]

t 2 dwectin | Wide V(o

2 ok when Speed. lya
o))




November 4, 2019

9. If a stone 1s thrown vertically upward from the surface of the
moon with a velocity of 10 m/s, its height (in meters) after
t seconds is h = 10t — 0.83¢°.
(a) What 1s the velocity of the stone after 3 s?
(b) What 1s the velocity of the stone after it has risen 25 m?
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